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Answer the following questions:

Question one (6 marks)

A) 1. Discuss the relation between Viscosity and Temperature for a certain fluid.
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B) Choose the correct answer:

1. The absolute viscosity of a fluid is primarily a function of:
(a) Density, (b) Temperature, (c¢) Pressure, (d) Velocity, (¢) Surface tension

Ans. (b) Temperature

2. Two parallel plates, one moving at 4 m/s and the other fixed, are separated by a
5-mm-thick layer of oil of specific gravity 0.80 and kinematic viscosity 1.25 *10™

m?”/s. What is the average shear stress in the 0il?

(a) 80 Pa, (b) 100 Pa, (c) 125 Pa, (d) 160 Pa, (e) 200 Pa

Ans. !a[ 80 Pa

e _pp =1.25x10™*x0.8x1000x

dy 5x107° 0.005

80Pa
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Question two (6 marks)
A) Show using neat sketch of the following:
i) The relation between Absolute, Atmospheric, and guage pressure.

i1) Pressure Intensifier.

B) Prove that the pressure changes in the vertical direction.
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C) For the inverted manometer shown figure, all fluids are at

20°C. If Pg - Ps = 97 kPa, what must the height H be in cm? Tﬁ;ﬂ:p - “: -
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Question Three (8 marks)

A) Differentiate between:-
I. steady and unsteady ﬂow
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II. Lamina, transient, and turbulent flow.
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B) If h = 10.5 m, as shown in figure, and the fA =40 Kre
pressure at A and B are 170 and 275 kPa A

respectively. Assume the liquid has a specific
gravity of 0.85. Find:-

I. The head loss in meters of liquid.
II. The direction of flow.

0.85 #[000 %38 A—B GosdLuck 4/4
58S =hies o a1
Yo A—R



